Cost Accounting       QUIZ Chapter 14           Name __________________________________


“Any idiot can face a crisis:  It is this day-to-day living that wears you out.”--Anton Chekhov

1. An unfavorable sales-mix variance would most likely be caused by:

A. a new competitor providing better service in the high-margin product sector.

B. a competitor having distribution problems with high-margin products.

C. the company offering low-margin products at a higher price.

D. the company experiencing quality-control problems that get negative media coverage of low-margin products.

E. all of the above are reasons for an unfavorable sales-mix variance.

2. WISTROM Stores had the following for June 2008:

$120,000 U sales-volume variance.

$175,000 U sales-mix variance.

$220,000 U market-share variance.

$  35,750 U flexible-budget variance.

What was WISTROM’s marker-size variance for June 2008?

3. The static-budget variance will be favorable when:

A.  actual unit sales are less than budgeted unit sales.

B.  the actual contribution margin is greater than the static-budget contribution margin.

C.  the actual sales mix shifts toward the less profitable units.

D.  the composite unit for the actual mix is greater than for the budgeted mix.

4. An unfavorable sales-mix variance would MOST likely be caused by:

A.  a new competitor providing better service in the high-margin product sector.

B.  a competitor having distribution problems with high-margin products.

C.  the company offering low-margin products at a higher price.

D.  the company experiencing quality-control problems that get negative media coverage of low-margin products.

5. Ceylon Tea Products has an exclusive contract with British Distributors. Calamine and Ceylon are two brands of teas that are imported and sold to retail outlets. The following information is provided for the month of March:



Actual
Budget



Calamine
Ceylon
Calamine
Ceylon


Sales in pounds
1,700 lbs.
1,800 lbs.
2,000 lbs.
1,500 lbs


Price per pound
$2.50
$2.50
$2.00
$3.00


Variable cost per pound
1.00
2.00
1.00
1.50

Contribution margin
$1.50
$0.50
$1.00
$1.50

Budgeted and actual fixed corporate-sustaining costs are $1,750 and $2,000, respectively.


What is the actual contribution margin for the month?

A.  $3,750

B.  $4,400

C.  $4,250

D.  $3,450


What is the contribution margin for the flexible budget?

A.  $3,750

B.  $4,400

C.  $4,250

D.  $3,450


For the contribution margin, what is the total static-budget variance?

A.  $300 favorable

B.  $950 unfavorable

C.  $500 favorable

D.  $800 unfavorable


For the contribution margin, what is the total flexible-budget variance?

A.  $300 favorable

B.  $950 unfavorable

C.  $500 favorable

D.  $800 unfavorable

1. An unfavorable sales-mix variance would most likely be caused by:

A. a new competitor providing better service in the high-margin product sector.

B. a competitor having distribution problems with high-margin products.

C. the company offering low-margin products at a higher price.

D. the company experiencing quality-control problems that get negative media coverage of low-margin products.

E. all of the above are reasons for an unfavorable sales-mix variance.

2. WISTROM Stores had the following for June 2008:

$120,000 U sales-volume variance.

$175,000 U sales-mix variance.

$220,000 U market-share variance.

$  35,750 U flexible-budget variance.

What was WISTROM’s marker-size variance for June 2008?

sales-volume = sales-mix var. + sales-quantity var.

$120,000 U = $175,000 U +  x        ( x = $55,000 F

sales-quantity var. = mkt-share var. + mkt-size var.

$55,000 F = $220,000 U +  y        ( y = $275,000 F
3. The static-budget variance will be favorable when:

A.  actual unit sales are less than budgeted unit sales.

B.  the actual contribution margin is greater than the static-budget contribution margin.

C.  the actual sales mix shifts toward the less profitable units.

D.  the composite unit for the actual mix is greater than for the budgeted mix.

4. An unfavorable sales-mix variance would MOST likely be caused by:

A.  a new competitor providing better service in the high-margin product sector.

B.  a competitor having distribution problems with high-margin products.

C.  the company offering low-margin products at a higher price.

D.  the company experiencing quality-control problems that get negative media coverage of low-margin products.

5. Ceylon Tea Products has an exclusive contract with British Distributors. Calamine and Ceylon are two brands of teas that are imported and sold to retail outlets. The following information is provided for the month of March:



Actual
Budget



Calamine
Ceylon
Calamine
Ceylon


Sales in pounds
1,700 lbs.
1,800 lbs.
2,000 lbs.
1,500 lbs


Price per pound
$2.50
$2.50
$2.00
$3.00


Variable cost per pound
1.00
2.00
1.00
1.50

Contribution margin
$1.50
$0.50
$1.00
$1.50

Budgeted and actual fixed corporate-sustaining costs are $1,750 and $2,000, respectively.


What is the actual contribution margin for the month?

A.  $3,750

B.  $4,400

C.  $4,250

D.  $3,450




(1,700 x $1.50) + (1,800 x $0.50) = $3,450

What is the contribution margin for the flexible budget?

A.  $3,750

B.  $4,400

C.  $4,250

D.  $3,450




(1,700 x $1.00) + (1,800 x $1.50) = $4,400

For the contribution margin, what is the total static-budget variance?

A.  $300 favorable

B.  $950 unfavorable

C.  $500 favorable

D.  $800 unfavorable


Variance = [(2,000 x $1.00) + (1,500 x $1.50)] – [(1,700 x $1.50) + (1,800 x $0.50)] 

$800 unfavorable = $4,250 – $3,450


For the contribution margin, what is the total flexible-budget variance?

A.  $300 favorable

B.  $950 unfavorable

C.  $500 favorable

D.  $800 unfavorable


$950 unfavorable = $4,400 – $3,450
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